EARAZROREIERT — 2 N—XBISY —F 201359/ 17H (X)) AMIBR##5H

Rl b SR 2 REF GRS B ‘ [Xiz] % ‘ [eErsm]  — |2 (&) 1800M FAE

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— 4 1BKI— : = #HET (FER)
1l8l1s S5 &4 I 4 2 53?0 1.(4_8).6 12-12 35.0 | 82.6 10 (4_268) jﬁﬂig%
R:F4—TA>N7 b BT -V T T4— IJHILTERIAL R
N 2 | EPR 1:48.6 9-9 35.2| 82.6 | 1 506 | MiIEE (5ER)
l > KA HE e (76) 0 | ® G1L-sy
LF=TANNT N BT r—RhY J—HrTr—LA
s = 2 | Atk — 1:48.7 9-9 35.4| 81.7 | 2 484 |BEAEZ (EX)
31814/ T7AMLIT 1 — g 54.0 (3/4) (-10) |P- G Z7v¥
LNnN=v774 B:I7Vtv b J =Y Tr—L
St S 4 2 | FRE 1:48.8 3-3 35.9|80.8 | 3 488 | MKEE (FH)
4|7|12| EFFTA TN — 54.0 3/4) o |tEREE
LAY w4 —Y B3Iy Rxvy T BEZX2Y K
N o JNExRE :48. ~ . . ity (FER)
5 NS PR o2 i 1(14/82>9 5-5 35.8|79.7 | 5 (5352) il
LT RIAY S vIx> B:5T35— HE &—
> 3 o2 | FHES 1:49.5 3-3 36.5| 74.0 | 4 444 | EEEHR (FF)
6|5/8| ¥T*IVT7I-T2R £52.0 (3 1/2) © | ) ¥ITLy k5T 5T47
R:ALFaAy b BALAFI ARET2-T7— L
Sy : t 2 | AIEEZ 1:49.8 6-5 36.7| 71.2 | 9 478 | IIFHEE (BH)
7 7 79/ 3=V K * 54.0EE (1 3/4) (-8) BEHA=
R:7TVFwE BiATAMRLEZ—R RIS
= FEHEB : — BEHZ (ER)
8 qlE9115v a0y o2 = 1(;1?:? 6-5 36.6| 71.2 | 15 zzgg) e
L:Wh—-> BA414739 ETR OHE
: . 4 2 | EHEES 1:50.0 6-5 36.8| 69.4 | 11 462 |BEBZ (ER)
9 10| 7 k1Y V) 54.0 (1 1/4) ) |EEER—
L:Ersa7aoq4 Bia~RINY— =Y Tr—LA
S . 2 | BEEX :50. 2-12 . . =H (ER)
10 4| NU—FEZ 4 it 1(75?:5) 12-1 36.4| 69.0 | 7 (ﬁ;) 2 &R
LT RIAVTy7X B:T7AUDLE21 ML KiLHS
. g o2 | ESEE 1:50.1 15-14 | 36.3| 67.9 | 14 | 514 |EKREHA (BER)
15|90 ¥FEY =T ALK 54.0 (76) ey | B KEES
R:T7FRYIT B:xg¥iax B
e s EHF :50. - . . BEIEM (FF)
vl vFvyEY s o2 LR 1(520)4 9-9 37.0| 65.7 | 12 zg)z H=r
R:TVv AT byh— B:TF4T7NZ— [l e]
< o HEER :50. = . . AHEE (EX)
i 6|73 2F 15— o2 2= (17%)74) 2-2 37.6| 66.4 | 6 ig)z haa
RivV I by THY BHCYeq LA E=> 7 ]
4 2 | EAK 1:50.5 14-14 | 36.7| 64.4 | 13 | 454 |PARE (FEFR)
14713 ERF X 54.0 3/4) o) | T
L:T7NHtEy b B RU—L*xEXx SzAve ]
o THH TS 42 | BFEKR 1:51.1 1-1 38.3| 60.8 | 8 424 | BAEE (FR)
EH 5| by THHTIA A51.0 3 1/2) 42 | B ERtus
Y LTAN— b B XA T~ HREE
@ 21 L
£ 48.4-35.8
NA> 24 L | 12.5-10.8-11.7-12.5-12.7-12.6-11.9-11.2-12.7
® 1—F—@EBIERL
13—7F-
2ol=5"=
Jo=5r= 5,6(8,12)2(10,11,7) (1,3,14) (4,15)13,9
40—F— (x5,6) (8,12) (2,10,11,7) (1,3,14) (4,15) (13,9)
[ N5
B 15 5,890M 714K 3-15 1,670 e E 2-8 500 JEE 3-14-15 7,720/
# B 15 670M 14-15 3,210 B = 3-15 6,000 3EE 15-3-14 103,690M
3 110 3-14 290M B H 15-3 20,910M
14 170

ABICOVWTRDTEEERROODE. TR LIV,




